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AR, WACONIEERRIIR, £5AEAS SN PEL . S PR RIR (FFA)S &
R WU B WA AR R 5 iy B R (R S RS A BT %, i RS AR
R IR B2 RO MR PR . BERE M RRAS . RO BRDhRE TeRESE B T b T
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MAHLEFIAEI FFA. &4 FFA A NS = SRR SN A HUH T RRAR TR B (41 °2) FFA — Cu.
Cu B 75 RO NI RR L OLE S R RRIIEERE S Cu B TR E IR R AT BIH— L AE
PAL e P R P b e AT B

B &R RS-
gﬁ*ﬁ"f%\ %‘&‘*}‘L\ ﬂi@ﬁ%?ﬁ%&\ 96 %L*}i\ 17—\7:%/[:?-37Ko
AV LE B AN B -

RO WAk 120 mLx1 i, 4°CIRAE;
A= WAk 15 mLx1 i, 4°CIRA7;
WA WAk 15 mLx1 i, 4°CIRA7
WA= W< i, IR R A

ARG WA 12 mLx1 i, 4CIRAF

HARRILE:

LB, HBHMALFRE () « FEBW mL)N 1: 5~10 [HH] CEIRELZ 0.1g HE, A ImL
FERD , BHTUKIBARK . E%AREL 15min, 5000 rpm 4°CES 0> Smin, HUE AR .

2.03F: WA 50 p L MiEFEA, IO 1 mL 3B, R%R 15 min j5, 4°C, 5000 rpm &0 5 min, B
GIREESRIR

3. AN IR (1044 o ABURAR (mL) 2y 500~1000: 1 IELH] (X 500 J3 400
DI 1 mL ZEBUBD IR, UK 75 i 4 i (Th3e 300w, #75 2 #, MR35, SErnN
3min) 5 JEHIRE 15 min, fRJF 5000 rpm 4°CE 0> Smin, B AR

ER: AVUMERINMETRAAE T L2, WA ET N, RS, BB ZIR—E A URR
e

ME LR

1. EEFRACTRHA 30min B E, TR 550 nm.

2. TAEMRAOELHE]: A ATARE A B BAR — v) 2 WA (v) s WHIE (m) =1 (mL) ;1
(mL) : 0.66 (g) [LLBIFEMIRE . ERE: BUABIRE, MWL, EamhicH, WR&hH
AT, R S50 RS, RS FIARF =D
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3. MER: WIN600 w LEEA, IMA200 u LLAEW, #%%/57%%20 min, 4°C, 5000 rpm@S.05 min, 73)=)5
200 u L EEBHUAH, MIA100 w LIRFIPY, #2247, 10 min/5 @550 nmPBOGIE, i HADIE .
4, THE: W00 w LEARGK, MMA200 w LTAER, #%/5/%7%20 min, 4°C, 5000 rpm& 025 min, 73/Z
JEEL200 w L FEAHUAE, AIA100 w LKA, #%57, 10 min/5llE 550 nmMROLE, 12 NATE.
FEHERFM—K. AA=ANE-AT A
R 1 AVUER SRR, IMAN6FLAE RS HRA I o

20 WU SE B IO IR A BIRE A T A 2 o ) A LA A5 DR

FFA S EiItE.:
PRAERIZE: y=0.0161x - 0.0141 R2=0.9985  x: FRHHMRFAAEMIKEE (nmol/mL)
y: BOGHZEMEAA
1. I% FFA &85
FFA 4 &( 1 mol/mL)=(AA+0.0141)+0.0161xV1+(V3 X V1+V2)+1000
=1.242%(AA+0.0141)
2. EWMIHR. BEY. AR FRA & BT
(D AR ARE TR
FFA (1 mol/g B H )=(AA+0.0141)+0.0161xV1+ (Wx V1+V2) +1000
=0.062%(AA+0.0141)+W
(2) HFEARAREITH
FFA & & ( 1 mo/mg prot)= (AA+0.0141)+0.0161xV1+(V1xCpr)+1000
=0.062%(AA+0.0141)+Cpr

V1: JIAEEARARR, 0.6mL; V2: FEBURAR, ImL; V3: A CGE) 4, 0.05mL; Cpr: HEAE
HBRE, mg/mL; W: WAL MBIE, ¢ 1000: 1 1mol=1000 nmol

VRS

1. EASEATEZEHZREBGRIFERAE ARFR BB, w2808 K s il sl A= 2R 36 /K A A
A BCA 8 A& =il e 7 &

2. fEAEH RN 20 nmol/mL.



